/DVIRB

*UXSD 5R]NiDG %15 - 7\J
o
™
=
n
oD
o)
—_
o
=
)
7N 7N 7\G] 7N
/RIVINND Z WIXDFIDFK NNJWRZ\FK Z *UNZQD /RIVIND Z VNIXDFIDFK NU\]\VRZ\FK iZ *UJ\ZQD %H]SIHFIHEVIZR HNRQRPIFIQH Z GU XU]DN BHPLQDUXP G\SRPRZH Gl *UHIRUF\N
=ELIQHZ =% %15 - =ELIQHZ =% %15 ODEURXN $QQD =% %15 “DUXV] =% %15 -
7™ 7\6] 7\6]
/RIVINND Z VNIXDFIDFK NAT\WVRZ\FK G2 *U]\ZQD 2FKIRQD [QIRUPDFIL QHIDZQ\FK (Z GU *UHIRUFT\N %H]SIHFTHEVIZR HNRQRPIFIQH Z GU . XUJDN
=ELIQHZ =% %15 & =DUXV] =% %15 & ODEURXN $QQD =% w15 -
7\G] 7\G] 7\C]
/RIVINND Z VAIXDFIDFK NAAJ\VRZAFK /RIVINND Z VNIXDFIDFK NAJ\WVRZAFK G2 *UJ\ZQD =ELJQIHZ =% %15 |||6HPIQDUXP G\SIRPRZH GU *UHIRUIFT\N = DUXV] =% %15 -
*J\ZQD =ELIQHZ =% %1 &
5 - 7\6] 7\6]
7\ %H]SIHFTHEVIZR %H]SIHFTHEVIZR HNRQRPIFIQH GZ GU - XUJDN
%H]SIHFTHEVIZR UHJIRQDIQH NRQZ  GU HNRQRPLFIQH Z Gl ODEURXN $QQD =% w5 &
7\6] KDE -+HIQDUVND .DURLQD SURI 8-~ =% _XUJDN ODEURXN $QQD =
A 2FKIRQD %15 & % w15 - 7\6]
R L‘{LF;E);D@K — — %H]SIHFTHEWIZR HNRQRPLFIQH 1Z GV
W Qz GUQ — ~ XUJDN ODEURXN $QQD =% %1
& R %H]SIHFTHEVIZR 2FKIRQD [QIRUPDFIL 5 &
oy N UHIIRQDIQH NRQZ GV QHIDZQ\FK 4Z GU
y 1= KDE ~+HIQDUVND . DURLQD *UHIRUFT\N = DUXV] =%
o SIRI 8-" =% %15 &
%l 5 %15 &
B 7\6]
7\Gl ™ %H]SIHFTHEVIZR HNRQRPLFIQH iZ Gl
-y 0
%H]SIHFIHEWIZR UHJIRQDIQH Z GU KDE Eiﬁgggg]ﬂrz_ugu?;\u}]omozo\m Z% EUS éXU]Dg ODEURXN $QQD =% 1
-+HIQDWAD . DURIQD SURI 8- =%
%15 - -
7\6]
9%H]SIHFJHEVIZR
UIHIRQDIQH Z GU KDE
-+HIQDUWND . DURIQD
SIRI 8-~ =%
w15 -
7N 7N 7\G]
= [ GFL [ GFL = \Ni -= GU=GDEVN. - =
8 2EURQD L RFKURQD FAZUIQD IXGQRGFL Z | | 2ELRQD L RFKIRQD FAZUIQD IXGQRGFL Z \NiDG GR Z\ERUX ,,, 3URI 8-~ GU =GDEVNL -HUJ\ =%
L VIDQDFK JDJIRTHE Z GU = UINRZVNL VIDQDFK JDJIRTHE GZ GU = INRZVNL %15 -
o 3R =% w15 - 3R =% %15 &
I 7\6]
(o4 = \NiDG GR Z\ERUX ,,, 3URI 8- GU =GDEVNL -HIJ\ =%
%15 -




/DVIRB

*UXSD 5RINiDG %1l 5

7\J

QLHG]LHOD

7\6]

=GDEVNL -HUJ\ =%

= \NiDG GR Z\ERUX ,,, 3URI 8-~ GlU

%15

7\G]

%15

= \NiDG GR Z\ERUX ,,, 3URI 8- GU=GDEVN. -HU]\ =%




